Jungles Answer Key:

1.  What percent of the land on Earth contains jungles?


Planets hot hothouse = tropical rainforest = 3% of land 
2.  What percent of all species live in jungles/tropical rainforests?


– home to over 50% of all species

3.  How do the 40 different species of birds of Paradise avoid interspecies competition?


– these avoid competition by living ins separate parts of the jungle – six plumed bird of paradise on 
the forest floor – magnificent bird of par. in low branches or bushes –
4.  How does sexual selection drive the evolution of the male birds of paradise?


– each with bizarre mating rituals- males show off for females flashing colors, calling, and dancing – 
the female picks the flashiest male -( sexual attraction drives the evolution of the males as the 
flashiest males are the ones to pass on their genes

5.  What adaptations must seeds in the jungle posses?


New Guinea – warm tropical belt = abundant rain and 12 hours of sun all year long – only 2% of 
sun reaches the forest floor – seeds struggle to grow – wait for a tree to fall – brings sun to the 
waiting seeds —a single hectare of forest floor may have up 250 species of tree = ten times the 
amount in all of England – race to grow in the sun – lots of competition – each plant has its own 
strategy – 
seeds of hardwoods = quick to germinate – vines grow rapidly upward – climbers grow 
and coil – 
pioneer species like the macarangas have huge leaves to fuel their growth – grow 8 
meters a year – 
in less than four years the gap will be gone – the hard woods take the place of the 
short lived 
pioneers and live up to 200 years – 50 meters tall

6.  Why is it difficult for animals to find food in the canopy?


Most animals live in the canopy – gathering food from the canopy is not as easy as it may seem – no 
real seasons so each tree flowers and fruits as it will – so food is widely spaced – must search for 
food

7.  What tree is the most reliable producer of fruit?  What animals can be seen taking advantage of this?


food – one type of fruiting tree that can be counted on is the fig tree – fig trees attract many animals 
such as the spider monkeys – diminutive Emperor tamarins – small size so easily scared off – squirrel 
monkeys also small but they have strength in numbers – interspecies competition – Capuchin 
monkeys = bullies of the forest – figs fruit year round – Howler monkeys are leaf eaters but they will 
eat figs too – howlers are too big to be chased off by capuchins – as many as 44 different species of 
bird and monkeys have been seen working the shift system on a single tree – many monkeys are 
territorial – Siamang gibbons call out to stake their territory the calls can carry over a mile – they 
are telling other siamangs to stay out –

8.  How do frogs hear each other amidst all the other calls and croaks of frogs?


frogs ears are tuned to hear only the calls of their own kind

9.  What physical adaptations enable a gliding frog to glide through the trees?


male gliding leaf frogs leap from the tree tops – they use huge webbed feet as parachutes

10.  What abiotic factors allow frogs in the jungle to spend their whole lives in the trees?


they spend most of lives in high canopy and only come down to breed- air is humid enough that the 
frogs do not worry about drying out – even their eggs are laid on leaves

11.  Where is the largest rainforest in the world? What percent of this forests clouds are produced by 

   the trees?  


½ of the rainwater that fall is from clouds produced by the trees – many of the world’s largest rivers 
are in rainforests
12.  How do trees produce clouds and thus rain?


one tree can suck up 100’s of tons of water but much of it returns to the air as vapor b/c they don’t 
need it = forms clouds

13.  Even with tons of plant life and the quick decay of leaves on the forest floor, the soil in the rainforest is not as rich as the soil in the deciduous or temperate forests.  Why is the soil nutrient poor?

– high humidity creates perfect conditions for decay – life thrives on this decay – slime molds cruidse the surface feeding on bacteria and rotting vegetation – mushrooms fungi flourish – fruiting body = mushroom the rest is underground network of fungal filaments – 

Temperate forests the buildup of decay = rich stores of nutrients – not in tropical rainforest b/c nutrients are leached out by the rain
13.  Describe the symbiotic relationship between fungi and trees in the rainforest.


–fungi connected to tree roots by underground filaments and by quickly consuming the dead they 
funnel nutrients right back into the trees – decomposition happens fastest here on planet – thought to 
be nearly a million species of fungi in the tropics – must unknown – without fungi rainforests could 
not exist

14.  80% of all the worlds insects live in jungles.  There are thousands of types of Coryceps fungi and each one specializes on a different insect.  Describe how this fungus actually protects the insects it harms.

80% of all insects live in jungles – bullet ants – spores form a parasitic fungus codryceps infiltrate their bodies and minds – the infected brain directs the ant upwards and then disroented – workers dump infected ants far from the colonies – fruiting bodies of the cordyceps erupts from the ants head – it can take three weeks to grow and once finished the spores are release – thousands of types of this fungi and each specializes on just one species – these attacks  stop any one group of insects from over populating and out competing other species – more numerous more likely to be infected
15.  Explain the reason for each species evolving highly specialized and unique characteristics in the rainforest.


The more specialized a creature, the more adapted he is to a particular niche in the forest.  The 
organism best adapted to exploit a particular niche will also maintain control of it, until another 
organism better equipped to handle the niche out competes the one currently there.  

16.  What adaptation does the pitcher plant have to help it gather the nutrients it needs to survive?


Pitcher plants from borneo adapted to living in low nutrient soils – gets most of nutrients from 
insects attracted to its nectar glands on the underside of the lids – waxy sides of the pitcher make it 
hard to escape – insects slip and drown in the water of the pitcher – gland release enzymes that 
dissolve the insects inside the pitcher

17.  Describe the mutualistic relationship that evolved between the pitcher plant and the crab spider.


red crab spider spends its life in the pitchers by hanging on with threads of silk – it relies on the 
pitcher to trap its food – and once insect drowns he fishes them out – digested remains end up in the 
water and provide food for the plants – spider takes air into a bubble and can dive to the bottom to 
the water for food –

18.  Large animals typically do not live in the rainforest. Why?


most animals are small because finding food is so challenging – 

19.  Give two reasons for elephants meeting in forest clearings in the Congo.


clearings are a magnet for elephants – live in smaller groups than savannah cousins – different 
groups meet up in clearings – forest buffalo, red river hogs, and bongos visit clearings – come here 
to collect an essential element of their diet that lies beneath the mud = elephants first blow away the 
silt with trunks – to collect a kind of clay that has vital minerals and helps absorb the toxins found in 
leaves the elephants eat – only places where elephants can socialize in large numbers –

20.  A group of Chimpanzees attack a neighboring group of Chimpanzees 
for territory.  When thinking back on other groups of animals in the wild, what seems different about this attack.  Why do you suppose they cannibalized an adolescent enemy chimp?


The attack appears to be pre-meditated based on the calls and such beforehand, the chimps are 
patient and appear to be intelligently assessing the danger before attacking the other group, chimps 
are adept at using the element of surprise and seem to “know” it is needed, in other words most 
fights or disputes appear largely instinctual and rather basic while this appears to be a thought out 
attack similar to an ambush human soldiers might perform.

